ELECTRONIC BID FORM

Purchasing Agent Silvia Coste Due Date: January 14, 2016 at 2:00 pm

VENDOR NAME					C.E James, Inc.		J. Malever Construction Co.		RMS Construction Group LLC	
	VENDOR'S CITY & STATE				Oviedo, FL		Grovelend, FL		Orlando, FL	
Item	Description	Item No.	Qty	Unit	Unit Price	Total	Unit Price	Total	Unit Price	Total
1	Mobilization and Demobilization	101-1	1	LS	\$20,000.00	\$20,000.00	\$44,500.00	\$44,500.00	\$40,000.00	\$40,000.00
2	Bonds and Insurance	101-2	1	LS	\$12,000.00	\$12,000.00	\$10,500.00	\$10,500.00	\$15,000.00	\$15,000.00
3	Maintenance of Traffic	102-1	1	LS	\$7,500.00	\$7,500.00	\$9,800.00	\$9,800.00	\$26,500.00	\$26,500.00
4	Prevention, Control and Abatement of Erosion and Water	104-14	1	LS	\$7,500.00	\$7,500.00	\$1,800.00	\$1,800.00	\$15,000.00	\$15,000.00
5	Clearing & Grubbing	110-1-1	1	LS	\$35,000.00	\$35,000.00	\$37,820.00	\$37,820.00	\$10,000.00	\$10,000.00
6	Regular Excavation	120-1	535	CY	\$10.00	\$5,350.00	\$18.00	\$9,630.00	\$10.00	\$5,350.00
7	Subsoil Excavation	120-4	340	CY	\$20.00	\$6,800.00	\$18.00	\$6,120.00	\$30.00	\$10,200.00
8	Embankment	120-6	3	CY	\$30.00	\$90.00	\$18.00	\$54.00	\$30.00	\$90.00
9	Type "B" Stabilization, (12") (Min. LBR 40)	160-4	2016	SY	\$8.00	\$16,128.00	\$6.80	\$13,708.80	\$15.00	\$30,240.00
10	Base, Graded Crushed Concrete Aggregate, (8")	205-70-8	1716	SY	\$30.00	\$51,480.00	\$16.90	\$29,000.40	\$18.00	\$30,888.00
11	Type SP 9.5 Asphaltic Concrete (2.0") (Traffic Level B)	334-1-12	189	TN	\$150.00	\$28,350.00	\$63.20	\$11,944.80	\$150.00	\$28,350.00
12	Bricks, Remove & Store	375-1	370	SY	\$35.00	\$12,950.00	\$25.60	\$9,472.00	\$22.00	\$8,140.00
13	Bricks, Relay Existing	375-2	370	SY	\$40.00	\$14,800.00	\$51.20	\$18,944.00	\$27.00	\$9,990.00
14	Inlet, Curb, Type P-2, <10'	425-1-321	1	EA	\$3,000.00	\$3,000.00	\$6,820.00	\$6,820.00	\$4,500.00	\$4,500.00
15	Inlet, Curb, Type P-5, <10'	425-1-351	2	EA	\$3,400.00	\$6,800.00	\$5,520.00	\$11,040.00	\$5,000.00	\$10,000.00
16	Inlet, Curb, Type J-6, <10'	425-1-461	1	EA	\$5,200.00	\$5,200.00	\$7,150.00	\$7,150.00	\$5,000.00	\$5,000.00
17	Manhole, J-7, <10' (Control Structure)	425-2-71	1	EA	\$26,500.00	\$26,500.00	\$25,280.00	\$25,280.00	\$38,500.00	\$38,500.00
18	Manhole, J-8, <10'	425-2-91	1	EA	\$2,800.00	\$2,800.00	\$5,250.00	\$5,250.00	\$10,500.00	\$10,500.00
19	Sanitary Manhole, 4' Dia. GU Base Liner, 4"-6" Deep, Remove & Replace	426-2-4BR	3	EA	\$2,800.00	\$8,400.00	\$7,400.00	\$22,200.00	\$12,500.00	\$37,500.00
20	Pipe Culvert, Concrete, Class III, Round, 18"	430-175-118	45	LF	\$100.00	\$4,500.00	\$83.50	\$3,757.50	\$100.00	\$4,500.00
21	Pipe Culvert, Concrete, Class III, Round, 30"	430-175-130	231	LF	\$125.00	\$28,875.00	\$109.00	\$25,179.00	\$150.00	\$34,650.00
22	Pipe Culvert, Concrete, Class III, Round, 36"	430-175-136	116	LF	\$180.00	\$20,880.00	\$147.30	\$17,086.80	\$185.00	\$21,460.00
	Pipe Culvert, Concrete, Class III, Ellip., 24" x 38"	430-175-230	128	LF	\$195.00	\$24,960.00	\$136.80	\$17,510.40	\$200.00	\$25,600.00
24	Mitered End Section, Class IV, Round, 36", CD	430-982-138	1	EA	\$2,500.00	\$2,500.00	\$1,980.00	\$1,980.00	\$6,500.00	\$6,500.00
25	Storm Sewer Video Inspection	432-4	1	LS	\$3,000.00	\$3,000.00	\$1,770.00	\$1,770.00	\$5,500.00	\$5,500.00
26	Concrete Curb & Gutter, (Type F)	520-1-10	923	LF	\$27.00	\$24,921.00	\$29.40	\$27,136.20	\$20.00	\$18,460.00
27	Concrete Curb & Gutter, (Type F Mod.)	520-1-10-1	170	LF	\$27.00	\$4,590.00	\$32.00	\$5,440.00	\$20.00	\$3,400.00
28	Concrete Curb (12" x 18" Conc. Header)	520-2-6	22	LF	\$30.00	\$660.00	\$29.40	\$646.80	\$50.00	\$1,100.00

ELECTRONIC BID FORM Due Date: January 14, 2016 at 2:00 pm

Purchasing Agent Silvia Coste

VENDOR NAME					C.E James, Inc.		J. Malever Construction Co.		RMS Construction Group LLC		
VENDOR'S CITY & STATE						Oviedo, FL		Grovelend, FL		Orlando, FL	
Item	Description	Item No.	Qty	Unit	Unit Price	Total	Unit Price	Total	Unit Price	Total	
29	Concrete Sidewalk, 4" Thick	522-1	211	SY	\$43.00	\$9,073.00	\$41.24	\$8,701.64	\$54.00	\$11,394.00	
30	Concrete Sidewalk and Driveway, 6" Thick	522-2	226	SY	\$56.00	\$12,656.00	\$51.60	\$11,661.60	\$54.00	\$12,204.00	
31	Riprap-Rubble, Bank and Shore	530-3-3	16	TN	\$250.00	\$4,000.00	\$70.00	\$1,120.00	\$250.00	\$4,000.00	
32	Fencing, Type B, 5' High Chain Link with Black Vinyl Coating	550-10-212	20	LF	\$50.00	\$1,000.00	\$100.00	\$2,000.00	\$50.00	\$1,000.00	
33	Performance Turf (Sod)	570-1-2	645	SY	\$5.00	\$3,225.00	\$5.00	\$3,225.00	\$6.00	\$3,870.00	
34	Single Post Sign, Relocate	700-1-50	2	AS	\$43.00	\$86.00	\$100.00	\$200.00	\$150.00	\$300.00	
35	Painted Pavement Makings, White, Solid, 12"	710-11-123	265	LF	\$5.00	\$1,325.00	\$3.20	\$848.00	\$5.00	\$1,325.00	
36	Painted Pavement Makings, White, Solid, 24"	710-11-125	170	LF	\$10.00	\$1,700.00	\$6.40	\$1,088.00	\$5.00	\$850.00	
37	Solid Traffic Stripe (White) (12") (Thermoplastic)	711-11-123	116	LF	\$5.00	\$580.00	\$6.40	\$742.40	\$5.00	\$580.00	
38	Solid Traffic Stripe (White) (24") (Thermoplastic)	711-11-125	83	LF	\$10.00	\$830.00	\$12.00	\$996.00	\$10.00	\$830.00	
39	Sanitary Sewer, 8" PVC, SDR-26, 4'-6' Deep, Remove & Replace	826-1-208BR	204	LF	\$90.00	\$18,360.00	\$123.30	\$25,153.20	\$65.00	\$13,260.00	
40	Sanitary Lateral with Cleanout, 4" PVC, SDR-26, Remove & Replace	826-5-4PR	4	EA	\$350.00	\$1,400.00	\$1,550.00	\$6,200,00	\$1,200.00	\$4,800.00	
	Reset Brick Driveway	900-1	5	SY	\$35.00	\$175.00	\$51.20	\$256.00		\$500.00	
42	Seal Existing Manhole with Spray Liner	900-2	1	EA	\$2,200.00		\$23,540.00	\$23,540.00		\$3,500.00	
	Vendor's total			<u> </u>	42,200.00	42,200.00	+ ==,=:===	Ψ20,010100	ψυ,υσσ.σσ	40,000.00	
	Calculated Grand Total (Items 1-4	2)			\$ 442,144.00		\$ 467,272.54		\$515,331.00		
Bid F	orm (00300-7) Signed:	·			YES		YES		YES		
Bid B	ond (10% of Base Bid) (00300-8-10):				YES		YES		YES		
Affida	avit of Non-Collusion (00310-1)				YES		YES		YES		
Affida	Affidavit of Present & Future Compliance MWBE (00320-1)					YES		YES		YES	
Present & Future Compliance Res. Contractor's (00330-1)					YES		YES		YES		
Cert. of Contractor's Health Benefits Program (00340)						YES		YES		YES	
Cert. of Contractor's Health Benefits Program (00360)						YES		YES		YES	
Cert. of Contractor's Health Benefits Program (00420)					YES		YES		YES		
M/WBE Utilization Plan					YES		YES		YES		
	Addendum No. One (1) Acknowledged:					YES		YES		YES	
Adde	Addendum No. Two (2) Acknowledged:					YES		YES		YES	

ELECTRONIC BID FORM Due Date: January 14, 2016 at 2:00 pm

Purchasing Agent Silvia Coste

VENDOR NAME					Gregori Construction, Inc.		JRP Universal Construction LLC		Cathcart Construction Company		
VENDOR'S CITY & STATE						er, PA	Clearwa	ter, FL	Oviedo, FL		
Item	Description	Item No.	Qty	Unit	Unit Price	Total	Unit Price	Total	Unit Price	Total	
1	Mobilization and Demobilization	101-1	1	LS	\$50,000.00	\$50,000.00	\$36,337.82	\$36,337.82	\$34,000.00	\$34,000.00	
2	Bonds and Insurance	101-2	1	LS	\$5,250.00	\$5,250.00	\$32,268.70	\$32,268.70	\$12,000.00	\$12,000.00	
3	Maintenance of Traffic	102-1	1	LS	\$10,000.00	\$10,000.00	\$18,782.65	\$18,782.65	\$15,000.00	\$15,000.00	
4	Prevention, Control and Abatement of Erosion and Water	104-14	1	LS	\$2,500.00	\$2,500.00	\$10,000.13	\$10,000.13	\$10,000.00	\$10,000.00	
5	Clearing & Grubbing	110-1-1	1	LS	\$22,500.00	\$22,500.00	\$11,443.57	\$11,443.57	\$153,000.00	\$153,000.00	
6	Regular Excavation	120-1	535	CY	\$50.00	\$26,750.00	\$38.45	\$20,570.75	\$10.00	\$5,350.00	
7	Subsoil Excavation	120-4	340	CY	\$20.00	\$6,800.00	\$46.90	\$15,946.00	\$15.00	\$5,100.00	
8	Embankment	120-6	3	CY	\$100.00	\$300.00	\$192.76	\$578.28	\$10.00	\$30.00	
9	Type "B" Stabilization, (12") (Min. LBR 40)	160-4	2016	SY	\$25.00	\$50,400.00	\$21.42	\$43,182.72	\$30.00	\$60,480.00	
10	Base, Graded Crushed Concrete Aggregate, (8")	205-70-8	1716	SY	\$25.00	\$42,900.00	\$16.44	\$28,211.04	\$60.00	\$102,960.00	
11	Type SP 9.5 Asphaltic Concrete (2.0") (Traffic Level B)	334-1-12	189	TN	\$125.00	\$23,625.00	\$218.70	\$41,334.30	\$120.00	\$22,680.00	
12	Bricks, Remove & Store	375-1	370	SY	\$27.00	\$9,990.00	\$9.74	\$3,603.80	\$25.00	\$9,250.00	
13	Bricks, Relay Existing	375-2	370	SY	\$35.00	\$12,950.00	\$11.42	\$4,225.40	\$27.00	\$9,990.00	
14	Inlet, Curb, Type P-2, <10'	425-1-321	1	EA	\$4,500.00	\$4,500.00	\$3,838.08	\$3,838.08	\$8,000.00	\$8,000.00	
15	Inlet, Curb, Type P-5, <10'	425-1-351	2	EA	\$4,750.00	\$9,500.00	\$4,053.68	\$8,107.36	\$8,000.00	\$16,000.00	
16	Inlet, Curb, Type J-6, <10'	425-1-461	1	EA	\$6,000.00	\$6,000.00	\$4,915.21	\$4,915.21	\$8,000.00	\$8,000.00	
17	Manhole, J-7, <10' (Control Structure)	425-2-71	1	EA	\$22,500.00	\$22,500.00	\$11,513.58	\$11,513.58	\$25,000.00	\$25,000.00	
18	Manhole, J-8, <10'	425-2-91	1	EA	\$3,250.00	\$3,250.00	\$4,127.20	\$4,127.20	\$6,000.00	\$6,000.00	
	Sanitary Manhole, 4' Dia. GU Base Liner, 4"-6" Deep, Remove & Replace	426-2-4BR	3	EA	\$9,250.00	\$27,750.00	\$3,274.19	\$9,822.57	\$7,000.00	\$21,000.00	
20	Pipe Culvert, Concrete, Class III, Round, 18"	430-175-118	45	LF	\$150.00	\$6,750.00	\$99.72	\$4,487.40	\$110.00	\$4,950.00	
21	Pipe Culvert, Concrete, Class III, Round, 30"	430-175-130	231	LF	\$180.00	\$41,580.00	\$151.95	\$35,100.45	\$120.00	\$27,720.00	
22	Pipe Culvert, Concrete, Class III, Round, 36"	430-175-136	116	LF	\$210.00	\$24,360.00	\$170.50	\$19,778.00	\$130.00	\$15,080.00	
23	Pipe Culvert, Concrete, Class III, Ellip., 24" x 38"	430-175-230	128	LF	\$190.00	\$24,320.00	\$148.69	\$19,032.32	\$110.00	\$14,080.00	
24	Mitered End Section, Class IV, Round, 36", CD	430-982-138	1	EA	\$2,750.00	\$2,750.00	\$3,265.40	\$3,265.40	\$4,000.00	\$4,000.00	
	Storm Sewer Video Inspection	432-4	1	LS	\$2,250.00	\$2,250.00	\$2,105.82	\$2,105.82	\$2,000.00	\$2,000.00	
26	Concrete Curb & Gutter, (Type F)	520-1-10	923	LF	\$30.00	\$27,690.00	\$18.23	\$16,826.29	\$30.00	\$27,690.00	
27	Concrete Curb & Gutter, (Type F Mod.)	520-1-10-1	170	LF	\$35.00	\$5,950.00	\$18.23	\$3,099.10	\$30.00	\$5,100.00	
28	Concrete Curb (12" x 18" Conc. Header)	520-2-6	22	LF	\$32.00	\$704.00	\$70.19	\$1,544.18	\$65.00	\$1,430.00	

Purchasing Agent Silvia Coste

VENDOR NAME						Gregori Construction, Inc.		JRP Universal Construction LLC		Cathcart Construction Company	
VENDOR'S CITY & STATE						Sarver, PA		Clearwater, FL		Oviedo, FL	
Item	Description	Item No.	Qty	Unit	Unit Price	Total	Unit Price	Total	Unit Price	Total	
29	Concrete Sidewalk, 4" Thick	522-1	211	SY	\$45.00	\$9,495.00	\$70.31	\$14,835.41	\$55.00	\$11,605.00	
30	Concrete Sidewalk and Driveway, 6" Thick	522-2	226	SY	\$55.00	\$12,430.00	\$87.83	\$19,849.58	\$60.00	\$13,560.00	
31	Riprap-Rubble, Bank and Shore	530-3-3	16	TN	\$150.00	\$2,400.00	\$326.53	\$5,224.48	\$350.00	\$5,600.00	
32	Fencing, Type B, 5' High Chain Link with Black Vinyl Coating	550-10-212	20	LF	\$60.00	\$1,200.00	\$51.45	\$1,029.00	\$50.00	\$1,000.00	
33	Performance Turf (Sod)	570-1-2	645	SY	\$5.00	\$3,225.00	\$9.82	\$6,333.90	\$5.00	\$3,225.00	
34	Single Post Sign, Relocate	700-1-50	2	AS	\$135.00	\$270.00	\$38.96	\$77.92	\$150.00	\$300.00	
35	Painted Pavement Makings, White, Solid, 12"	710-11-123	265	LF	\$4.00	\$1,060.00	\$6.39	\$1,693.35	\$4.00	\$1,060.00	
36	Painted Pavement Makings, White, Solid, 24"	710-11-125	170	LF	\$7.00	\$1,190.00	\$12.78	\$2,172.60	\$8.00	\$1,360.00	
37	Solid Traffic Stripe (White) (12") (Thermoplastic)	711-11-123	116	LF	\$7.00	\$812.00	\$6.39	\$741.24	\$5.00	\$580.00	
38	Solid Traffic Stripe (White) (24") (Thermoplastic)	711-11-125	83	LF	\$12.00	\$996.00	\$12.78	\$1,060.74	\$10.00	\$830.00	
39	Sanitary Sewer, 8" PVC, SDR-26, 4'-6' Deep, Remove & Replace	826-1-208BR	204	LF	\$9.75	\$1,989.00	\$86.08	\$17,560.32	\$125.00	\$25,500.00	
40	Sanitary Lateral with Cleanout, 4" PVC, SDR-26, Remove	826-5-4PR	4	EA	\$950.00	\$3,800.00	\$374.14	\$1,496.56	\$2,500.00	\$10,000.00	
41	& Replace Reset Brick Driveway	900-1	5	SY	\$150.00	\$750.00	\$59.69	\$298.45	\$2,300.00	\$200.00	
42	Seal Existing Manhole with Spray Liner	900-1	1	EA	\$2,800.00	\$2,800.00	\$53,572.75	\$53,572.75	\$4,000.00	\$4,000.00	
	Vendor's total				Ψ2,000.00	Ψ2,000.00	φυσ,υτ2.13	ψου,υταιτο	\$ 1,000.00	Ψ1,000.00	
	Calculated Grand Total (Items 1-4	2)			\$	516,236.00	\$	539,994.42	\$	704,710.00	
Bid F	orm (00300-7) Signed:	,			ΨES		YES		YES		
Bid B	ond (10% of Base Bid) (00300-8-10):				NO		YES		YES		
Affid	avit of Non-Collusion (00310-1)				YES		YES		YES		
Affidavit of Present & Future Compliance MWBE (00320-1)						YES		YES		YES	
Present & Future Compliance Res. Contractor's (00330-1)						YES		YES		YES	
Cert. of Contractor's Health Benefits Program (00340)						YES		YES		YES	
Cert. of Contractor's Health Benefits Program (00360)						YES		YES		YES	
Cert. of Contractor's Health Benefits Program (00420)						YES		YES		YES	
M/WBE Utilization Plan					NO		YES		YES		
	ndum No. One (1) Acknowledged:	YES		YES		YES					
Addendum No. Two (2) Acknowledged:						YES		YES		YES	